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log (L*/L* ) CIELAB lightness L* normalized

L¥IL* to the background lightness_* ,
100-* =s(Y/Yp)"=d (Y,=100,Y,=18, s=116, n=1/3, d=16) [1
L*=r (Y/Yy)"=d (r=5s(Yd/Yy)"=65,49,L* = - d) [1b]

CIELAB tristimulus value difference

AY normalized toAY,

100 =s(Y/Y)"=d (Y,=100,Y,=18, s=116, n=1/3, d=16) [
L*=r (Y/YQ)"=d (r=s(Y/Yy)"=65,49,L* ;= r - d) [1b]
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log [(L¥/L* y+h) /g1 =n log {/Yy) [1d] 0¥y = Yo/ (1 S)](Yy | Yo" = 1,4602 [2d
10 In [(L¥L* y + h) / g ] = In(10) n log ¥/Y,) [1e] 10 dy /dY, = (Y /Yy " [2e]
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CIELAB lightness L* normalized
/ to the background lightness.*
L*=s(Y/Yy)"=d (Yn=100,Y,=18, =116, n=1/3, d=16)
Lo =r (YY) ™=d (r =s(Yy/Yn)"=65,49,L* ;= r - d)
(9=r/(r-d)=1,32, h=d/(r-d)=0,32) [1c
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L*=s(Y/Yp)'—d (Y4=100,Y,=18, s=116, n=1/3, d=16)
L*=r (Y/YQ)"=d (r=s(Y/Yy)"=65,49,L* ;= r - d)
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log [(AY/Y) / (AY/Y),]  CIELAB -Y sensitivity

S/Su=AYMIAYY),  normalized to AY/Y),
1002 =s (YY) =d (Y,=100,Y,=18, s=116, n=1/3, d=16)  [L
L*=r (Y/Y)"=d (r=s(Yu/Yy)"=65,49,L* ;= r - d) [1b]

log[(Y/AY) / (YIAY)y)]  CIELAB -Y contrast

Ci/Cy=(YIAY)(YIAY), normalized to (YIAY),

100-* =s(Y/Yy)'-d (Y,=100,Y,=18, s=116, n=1/3, d=16)  [1,
L*=r (Y/YQ)"=d (r=s(Yy/Yn)"=65,49,L* ;= r - d) [1b]

CIELAB -Y sensitivity
normalized to AY/Y),
L*=s(Y/Yy)"=d (Y,=100,Y,=18, =116, n=1/3, d=16)
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log (L*/L* ) IECSRGB lightnessL* normalized

L¥/L* to the background lightnesd.*
100 =s(Y/Yp)"-d (Y,=100,Y,=18, =100, n=1/2,4, d=0) [1
Lo =r (YY) =d (r=s(Yy/Yn)"=48,94,L* ;= 1 - d) [1b]

100.* =s (Y/Yp)"=d (Y¥,=100,Y,=18, =100, n=1/2,4, d=0) [1
L*=r (YIY)"=d (r=s(Yy/Yn)"=48,94,L% ;= - d) [1b]
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IECsRGB lightnessL* normalized
to the background lightnesd.*,
L*=s(Y/Yy)"—=d (Yn=100,Y,=18, =100, n=1/2,4, d=0)
L* =1 (YY) "=d (r=s(Yy/Yp)'=48,94,L* ;=1 - d)

IECSRGB tristimulus value difference

AY normalized toAY,

L* =s(Y/Yy)"~d (Y4=100,Y,=18, =100, n=1/2,4, d=0)
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log [AY/Y) / (AY/Y),]  |ECSRGB-Y sensitivity

SISy=QYIY)(AYrY), normalized to (AY/Y),

log[(Y/AY) / (YIAY),)] |ECSRGB-Y contrast
Ci/Cw=(YIAY)(YIAY), normalized to (YIAY),

100L* =S (Y/Yy)'=d (Y,=100,Y,=18, =100, n=1/2,4, d=0) [L 24100* =s(Y/Ys)'—d (Yy=100,Y,=18, s=100, n=1/2,4, d=0) [L
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IECSRGB-Y sensitivity
normalized to AY/Y),
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normalized to (Y/AY),
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TUB-test chart heo3; CIELAB & IECsRGB colour-difference, ISO/CIE 11664-4 & IEC 61966-
log & lin[lightnessL*, thresholdAY, sensitivityAY / Y,contrasty /AY,normalized for grey U]
C M Y (0] L V

i Il

S(ﬁ/ 1X1"BUQ|E03Y/E0aU-TO0TFZ0Z :uonensifal gan L

ndino juild 1o Aejdsip Jo Juswainseaw pue uoleneAs 104 uoledldde

9p02 :[eudrew gn.l

yl

>léo




